Tremaine CHANDELIER
INSTALLATION GUIDE

@ WEARING GLOVES
IS RECOMMENDED
DANGER: ELECTRIC SHOCK RISK. FOR YOUR SAFETY,

TURN OFF ELECTRICAL POWER BEFORE BEGINNING
INSTALLATION AND USE CAUTION WHEN INSTALLING.

+1 888.399.9905
www.vault-light.com | sales@vault-light.com



http://www.vault-light.com
mailto:sales%40vault-light.com?subject=

LI

HEN NS

Lamp Body*1pc

Acrylic A-4*1pe

Acrylic Tube*9pes

ceo

D Y O

PPN
RS
SLRERRILLHK
oletetetetetetetetetetenet,
LKL
Cotetotetotetetetotetotety
otototatatetetateteletolels!
LIRS
otototetateteteteteletolels!
otetateletetetetetetetetes
ettt oottt e te %
St tete oo tetetatatitetely
dogetasetatatatoteteretorels
Ottt oot etetatatatatetets

o

A

Acrylic A-5*1pc

— ——|

Stem*1pc

Acrylic A-6*1pc

Screw for acrylic *27pcs

Acrylic A-2*1pe

&

Acrylic A-7*1pc

8-32" Set Screw *34pcs

Acrylic A-3*1pe

Acrylic A-8*1pc

I

1/4 -20 Screw *4pcs

J

.

Tremaine Chandelier

www.vault-light.com | sales@vault-light.com


mailto:www.vault-light.com?subject=
mailto:sales%40vault-light.com%20?subject=

.

[ ] S o0
' '. i i 0eo
\’ O ooy oo 2 & -
TWJ‘ _&_ | % Plate
g - _I_.. Canopy
/ L. Bod: S e
amp Body *1pc tem *1pc ek
m ﬁ @ * F 1/4-20" Screw
. - .
i1 - =—
Acryli A-1*1pc Acryli A-2*1pc Acryli A-3*1pc Ac%lpa M| RN R Lamp Body
9
Acryli A-5*1pc Acryli A-6*1pc Acryli A-7*1pc Acryli A-8*1pc
8 astan Jii
Acrylic Tube*9pes  Screws for acrylicbube*27pes ¢ 5o Set Screw*34pcs 1/4-20" screw*4pcy Lamp Body Installation Instruction
[ o0
Y r———— —  Lamp Body -4 585
080 - 5 =

\
I

! Screw for acrvlic tube

I
[
| Acrylic Tube

Structure

i
a
-

|

[ s

?

Screw for acrylic tube

F______
|
|

~ Acrylic Tube

Acrylic Tube Installation Instruction

Lamp Body

|
| 8-32" Set Screw

v-aa

J

Tremaine Chandelier

www.vault-light.com | sales@vault-light.com


mailto:www.vault-light.com?subject=
mailto:sales%40vault-light.com%20?subject=

Bottom View

Tremaine Chandelier www.vault-light.com | sales@vault-light.com


mailto:www.vault-light.com?subject=
mailto:sales%40vault-light.com%20?subject=

.

@762(230")

Geo]

Pl ETEITETEEFEFTETTTTETTTT VA

1019(40")

RRRRES
o e s
(L
K KD
(D o e
S b
o o o e et 0
O RS
IR

alagelelelels
RIS
KHXHKXRRL

RHIAA
%3

RS
RS

J

Tremaine Chandelier

www.vault-light.com | sales@vault-light.com


mailto:www.vault-light.com?subject=
mailto:sales%40vault-light.com%20?subject=

